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Probl. 1 Studiere: • Etudier:
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3 x + 4 y = 2
2 x− 3 y = 1
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(Skalarprodukt!)
• (Produit scalaire!)

; Neu: • Nouvelle forme:
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(Matrixprodukt!)
• (Produit matriciel!)

; Kurz: • Bref:
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(Matrixprodukt!)
• (Produit matriciel!)

M =
(

3 4
2 −3

)
; Matrix • Matrice

Bsp.: • Exemple:

M · ~x= ~a =
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)
~x=

(
5
6

)
⇒ M · ~x =
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Probleme: • Problèmes:

(a) M =
(

3 4
2 −3

)
, ~x =

(
1
−2

)
⇒ ~a = M · ~x = ?

(b) M · ~y =
(

4
7

)
⇒ ~y = M−1 ·

(
4
7

)
= ? (Rechner) • (Calculatrice)

(c) M · (M · ~x) = ? %

(d)
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~x =
(

1
−2

)
, M =

(
3 4
2 −3

)
, A =

(
1 2
2 1

)

~y = ?, ~z = ?, ~w = ?
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